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Inversederivative

# :
Let f be a one-to-one

,
differentiable function ,

the Fr is also differentiable
,

and

(5% '(x =
x)

it
we only grove the differentiation

part

y = f(x) = f(y) = x

↓ implicit differentiation

fig. y = 1

y' = F = *-x)

: Sexs = e S = Inf

Dext = fix =*



Herivativesof fogarithmicfunctions

# :

Using implicit differentiation
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earithmicdifferentiationmethod : find derivative quickly





Durativesof Inverse trigonometric functions

fix = sinx : -EE ] + It , 1)

f(x) = Sinx : [t
, 13 [E,

(Sinx) = fix) =

xi

#ticethat : (sin)0()" + (0 , 101) = 1

↓ 0 = sinX

x + cos (sinix) = 1

= Gs(sinix) =x <0 when x + ( , 1)

DE r E,

=> (inix) = i



derivative

algebraic functions-> algebraic functions

F
·y . sinx



Linearapproximation
The idea of devinative : instantaneous rate of change

Using lives to approximate complicated functions



Review i

-

Limit : C
a = +0) - = horizontal asymptote

L : + c)- => vertical a sympotote

Quee : Contin multiple : C . Fox

sun/ dittom f = g

product f - g

quotient E

-queere the = ha
-
> fox <

g(x)

~

tinuous functions
: Let : CirS = Gol

Basic examples : · Polynomial
· Rational function

· Algebraic functions

· Trigonometric/Juuse togorometric
·

exponential/logarithmic



Basic
-reperties : & of
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g

- -
· LFg : g

... at a

f... at g(a)

fog --- at a



-ractice test

1. (1) lim fix = + a
X + a

the values of fox can be as longe as you want

if
you restrict X to a sufficiently small internal

anting a

(2) li-(x = L

* y + N

the values of Six can be as close to Las

you want it the variable is sufficiently large

13)

lin Se . gen
= linfoxs · Dinen

↑ -4

14

(f - g) = f : g + fig)



2. 11) continuous functions

Sin = 0 . 1 = v

1

f(x) = 5 . (1+ +an(x))
- 5

. (eix)

141

gix = esX . Ex - Sin let. ex

3.111X

(2) X

13 ~

14 , y
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. y
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f(x)=

t
Y
--

HA



5. (2) 2x + 4y + 4xy + 2y . y = 0

X + zy + 2xy + y - y = -

y'(2x + y) = - (y+ x)

j = -

X+2y
-

2x+ y


